
X1 ≤ -0.474
gini = 0.4999

samples = 150
value = [74, 76]

X0 ≤ 0.545
gini = 0.0303
samples = 65
value = [64, 1]

True

X0 ≤ -0.3011
gini = 0.2076
samples = 85

value = [10, 75]

False

gini = 0.0
samples = 63
value = [63, 0]

X1 ≤ -0.7106
gini = 0.5

samples = 2
value = [1, 1]

gini = 0.0
samples = 1
value = [1, 0]

gini = 0.0
samples = 1
value = [0, 1]

X1 ≤ 0.6017
gini = 0.426

samples = 13
value = [9, 4]

X1 ≤ 0.5323
gini = 0.0274
samples = 72
value = [1, 71]

gini = 0.0
samples = 9
value = [9, 0]

gini = 0.0
samples = 4
value = [0, 4]

X1 ≤ 0.4668
gini = 0.1244
samples = 15
value = [1, 14]

gini = 0.0
samples = 57
value = [0, 57]

gini = 0.0
samples = 14
value = [0, 14]

gini = 0.0
samples = 1
value = [1, 0]


